26 B EN




TR

o HiiIINMNIZE: M E3EE

(BRFA, (EFMBRETNESTRA) F)
e TAAEMNETE: BTHRNEEAFARE
(U1, MrIRESISE)

e HEERMZE: REER, XiEFB
(FHIEEFR. HF5E. NE&XFS)

Okt

Eif—7 38— FHlMEZR fies i =E 3 75 Tt 2




s iT RRIEN

o IHIREFABIR F 71 B 4
o IEIAEF AR IE F % = 8 4
o IEMAEFARIRF IS B
o HMEEIARAEMEGED (FE+HE)

Eif—7 38— FHlMEZR fies i =E 3 75 Tt 2




HIRI B B Bl ERiE I &R

feut. R4E. B, S,

Wiz, ==

Eif—7 38— FHlMEZR lies i & ¥f 7 it 25




48-8H: EilisEtHiE

___________________________ N
- 4 i d
coat || (mRITR) (EED) ) !

' . A
- g il
10/\ed —[ ) :

\_ , v,
45-88 — )
oRsifiE | GvEmgEm )

. A A
~ o 8
WIEE&H {B335521000580 ) :
______________ T R T P T e B

‘:EﬁE-I‘# : E\ -I‘/D\\ IIE\ FH ; ]‘Eiﬁna\\.\ EIIE\\.\ iEIIE\\.\ ﬁ%ﬂlﬁO

E#l: 165E#, RETDE,
ik : SEIBJED, RIFREHEZNXFHHE,

Eif—7 38— FHlMEZR fies i =E 3 75 Tt 2




OB-11ALH: IREeHEIE

: 107\ :—[ (F ) WE

i 20/ e j—[ (660 ) (HEET) j i

i 15/ )Ng ﬁ—{ (EMAERTLL) 1 i
! Y (MR RLE) J

B E
_____________________________________ y

Eif—7 38— FHlMEZR fies i =E 3 75 Tt 2




HEREEN, WERIMITIARS.

ZImiF, HE 25624, FEE+TT
HABEEAIR, T7TENTTIE,
SEZMBCAENM 32 5, B9
77, +HRME $

RAFE!D pnimd, EMMRRRET

R AENEEEIE @ &S

BfiElm, EAE22, TEET=0 OnE

Eif—7 38— FHlMEZR

SiH BAETEMRIBEI T (EREaRE0LAT, 575 FMs4L
A, TUE41 BT

%
§
—

FAFHBRRE LR TER Hks= FNEGE

4 16:40:30 (MIHZE-ZFETHEHRMEFFA)

AN

OEFEm@EE 2/24

ZHifl T H/\E—EEEETS, By, FEbs. EREESE

SRS 1. BIAEMAE 170, FihD260. BS650). RIEHEAY
TEE 7 &2 E4043.

leinE ¥ 7= i IS



1MBL8-Fh: FRISEHE

! ‘

(BB :

T h :
e e (FERES) ||
L /|
5

1B L8-FEh[ . : | EEER=EFERIS) :
: ko (OOVTEREERERRY |
~

(sEE\EL) ||

(EFHEIES) :

=

— ——— —————— ———— ——— — ———— — ——— ——— — — — — — — — -

1. BEW=AE %% ﬁ%?ig%%Aﬂﬂﬁ,U%%MﬁTm — o
AE AT, ST RS

EifE—9 38— HIME leinE ¥ 7= i IS

N
&
?
ﬁ
%




FIEK

1. TRE—o
2. AL o
3. FEE R,
4. FERARBEEFNEG B4,

Eif—7 38— FHlMEZR fies i =E 3 75 Tt 2




EiREJIE

1. Efism{ k. FHiE E£19:00-20:30; AKX LEHF9: 00-10:30, BAZ=. =&k,

2. REMFIME: RS REASRELE7:30-8:15 (@i, KA. 5 ) . PABSEARLESF
9:00-10:30 ( £ I5 ) .

3. ZRIRAEME: MIBFEBRME

e —% B—FHllME=5 fies i =E 3 75 Tt 2




